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B2 A S 93 EESY 55 HE(E9 : ppb)
= Mass Transition(Q1 — Q2) = ZE Std1(Blank) Std2 Std3 Std4 Std5
Be 9—>9 No Gas 0 1.0 2.0 5.0 10.0
B 11 —=>11 No Gas 0 1.0 2.0 5.0 10.0
Mg 24—>24 Ha 0 1.0 2.0 5.0 10.0
Al 27 —>27 H: 0 100.0 200.0 500.0 1000.0
Si 28 >28 H: 0 1.0 2.0 5.0 10.0
K 39—>39 H: 0 1.0 2.0 5.0 10.0
Ca 40— 40 Ha 0 1.0 2.0 5.0 10.0
P 31—>47 0. 0 10.0 20.0 50.0 100.0
S| 32—>48 02 0 100.0 200.0 500.0 1000.0
Cr 52 > 52 H2 0 1.0 2.0 5.0 10.0
Fe 56 —> 56 H2 0 1.0 2.0 5.0 10.0
Cu 63 —> 63 H2 0 1.0 2.0 5.0 10.0
Ti 48 —> 64 02 0 1.0 2.0 5.0 10.0
Zn 66 — 66 H2 0 1.0 2.0 5.0 10.0
v 51 —>67 02 0 1.0 2.0 5.0 10.0
Ga 71—=>7 H: 0 1.0 2.0 5.0 10.0
Ge 72—>72 H: 0 1.0 2.0 5.0 10.0
Se 78 —>78 Ha 0 1.0 2.0 5.0 10.0
Rb 85—>85 HEHe 0 1.0 2.0 5.0 10.0
Sr 88 =88 HEHe 0 1.0 2.0 5.0 10.0
Zr 90 —>90 HEHe 0 1.0 2.0 5.0 10.0
As 75—>91 02 0 1.0 2.0 5.0 10.0
Nb 93 —>93 HEHe 0 1.0 2.0 5.0 10.0
Mo 95 —>95 HEHe 0 1.0 2.0 5.0 10.0
Ru 101 —>101 HEHe 0 1.0 2.0 5.0 10.0
Rh 103 —=>103 HEHe 0 1.0 2.0 5.0 10.0
Pd 105—>105 H2 0 1.0 2.0 5.0 10.0
Ag 107 =107 H: 0 1.0 2.0 5.0 10.0
Cd 111 —=>111 Ha 0 1.0 2.0 5.0 10.0
Sn 118 —>118 0, 0 1.0 2.0 5.0 10.0
Sb 121 —>121 02 0 1.0 2.0 5.0 10.0
Cs 133 —>133 02 0 1.0 2.0 5.0 10.0
Ba 137 =>137 HEHe 0 1.0 2.0 5.0 10.0
La 139 > 139 HEHe 0 1.0 2.0 5.0 10.0
Ce 140 —> 140 HEHe 0 1.0 2.0 5.0 10.0
Pr 141 —> 141 HEHe 0 1.0 2.0 5.0 10.0
Nd 146 —> 146 HEHe 0 1.0 2.0 5.0 10.0
Sm 147 —> 147 HEHe 0 1.0 2.0 5.0 10.0
Eu 153 >153 HEHe 0 1.0 2.0 5.0 10.0
Gd 157 =>157 HEHe 0 1.0 2.0 5.0 10.0
Tb 159 =159 HEHe 0 1.0 2.0 5.0 10.0
Dy 163 —> 163 HEHe 0 1.0 2.0 5.0 10.0
Ho 165 —>165 HEHe 0 1.0 2.0 5.0 10.0
Er 166 —> 166 HEHe 0 1.0 2.0 5.0 10.0
Tm 169 —=> 169 HEHe 0 1.0 2.0 5.0 10.0
Yb 172 —>172 HEHe 0 1.0 2.0 5.0 10.0
Lu 175—>175 HEHe 0 1.0 2.0 5.0 10.0
Hf 178 —=>178 HEHe 0 1.0 2.0 5.0 10.0
Ta 181 =181 HEHe 0 1.0 2.0 5.0 10.0
W 182 —>182 HEHe 0 1.0 2.0 5.0 10.0
Re 185—>185 HEHe 0 1.0 2.0 5.0 10.0
Os 189 Ha 0 1.0 2.0 5.0 10.0
Ir 193 —>193 HEHe 0 1.0 2.0 5.0 10.0
Pt 195—>195 HEHe 0 1.0 2.0 5.0 10.0
Au 197 —=>197 02 0 1.0 2.0 5.0 10.0
Hg 202 —> 202 02 0 1.0 2.0 5.0 10.0
Tl 205 —>205 HEHe 0 1.0 2.0 5.0 10.0
Pb 208 =208 H2 0 1.0 2.0 5.0 10.0
w 182—>214 02 0 1.0 2.0 5.0 10.0
Th 232 —=>232 HEHe 0 1.0 2.0 5.0 10.0
u 238 =238 H2 0 1.0 2.0 5.0 10.0




7|7| AI‘% gtl _JIC_?_-I s Mass Transition Eoc DL BEC R
(Q1—>Q2) =
w20 Fetot 2ME 2{5H0] Agilent 8900 ICP-QQQ A|AEIE 13 Ti 48—> 64 0. 00160 | 0.0677 | 0.9995
AESIFOH, A2 E/E = IAS autosamplerE E 260 14 Zn 66— 66 He 0.0168 | 016 | 0.9990
white-white sample tubing, micromist nebulizer, double pass 15 v L : &7 % 00018 | 0.0088 | 0.9994
. hamber S ALR I LICH ot @ 8Tl A2 S ol 16 Ga 71—=>71 Ho 0.0023 | 0.0056 | 0.9997
pray champber & AMrSorusE T EEST EEE S 17 Ge 72—>72 H, 0.2304 | 0.0658 | 0.9998
2| =& 0|HE EOt =10 He[5HA| 2[5t 21510 Agilent 18 Se 78—>78 Ha 0.0151 | 0.0117 | 0.9996
Masshunter Acquisition(ver. 5.2) % Masshunter Quantitative 19 Rb 85— 85 HEHe | 0.0088 | 0.0438 | 0.9996
CATTEOME AL ElodA 20 Sr 38— 88 HEHe | 0.0043 | 0.0049 | 0.9997
Analysis 2= ZEH|01S AR OIASLICE 21 Zr 90—>90 HEHe | 0.0059 | 0.0195 | 0.9998
22 As 75—>91 0, 0.0033 | 0.0076 | 0.9996
3,717 A8 9 2= TRI0E] 23 Nb 93— 93 HEHe | 0.0010 | 0.0053 | 0.9997
: ==tlme 24 Mo 95—>95 HEHe | 0.0011 | 0.0040 | 0.9997
Parameter — 25 Ru 101—>101 HEHe | 0.0027 | 0.0042 | 0.9996
26 Rh 103 —> 103 HEHe | 0.0004 | 0.0012 | 0.9996
Tune mode Nogas HEHe 0: H. 27 Pd 105—>105 He 0.0408 | 0.5698 | 0.9996
RF Power 1,550W | 1,550W | 1,550W | 1,550W 28 Ag 107 =107 Ho 0.0046 | 0.0341 | 0.9997
RF Matching 1.4V 1.4v 1.4V 1.4v 29 cd 111—=>111 Hz 0.0023 | 0.0031 | 0.9996
Sample Depth 8.0mm 8.0mm 8.0mm 8.0mm 30 Sn 118—>118 02 0.0068 0.0299 1.0000
Plasma | Nebulizer Gas 1.05L/min | 1.05L/min | 1.05L/min | 1.05L/min 31 Sb 121 =121 0. 0.0078 | 0.0067 | 0.9997
Nebulizer Pump 0.1rps 0.1rps 0.1rps 0.1rps 82 Cs 133133 0 0.0011 0.0163 0.9993
33 Ba 137 —>137 HEHe | 0.0019 | 0.0181 | 0.9999
Spray chamber 2°C 2°C 2°C 2°C 34 La 139—>139 HEHe | 0.0002 | 0.0003 | 0.9999
temperature
35 Ce 140 —> 140 HEHe | 0.0002 | 0.0007 | 0.9998
Extract 1 4.0V 4.0v 4.0V 4.0v 36 Pr 141 =141 HEHe | 0.0002 | 0.0001 | 0.9998
Extract 2 -190.0V -190.0V -190.0V -190.0V 37 Nd 146 —> 146 HEHe 0.0005 0.0001 0.9998
Omega bias 105V 105V -105V 105V 38 Sm 147 =147 HEHe | 0.0009 | 0.0003 | 0.9996
Omega Lens 8.8V 10.8V 10.8V 10.8V 39 Eu 153 —> 153 HEHe | 0.0002 | 0.0001 | 0.9995
Lenses | & nce 20V 150V 20V 20V 40 Gd 157 =157 HEHe | 0.0009 | 0.0003 | 0.9998
- 41 Tb 159 —> 159 HEHe | 0.0001 | 0.0001 | 0.9999
Cell Exit -60v 150V -60v -60v 42 Dy 163 —> 163 HEHe | 0.0003 | 0.0002 | 0.9997
Deflect 14.0v 75.0V 8v 0.0v 43 Ho 165—> 165 HEHe | 0.00005 | 0.0002 | 0.9999
Plate bias -55V -150V -55V -55V 44 Er 166 — 166 HEHe 0.0007 | 0.0002 | 0.9998
Used Gas - Helium Oxygen | Hydrogen 45 m 169 —> 169 HEHe 0.0002 | 0.0001 0.9995
He flow rate Jom/min | 30% | 5.5ml/min 46 Yb 172172 HEHe | 0.0005 | 0.0002 | 0.9995
cell | ootp Bias sov | -tooov | 50v 8.0V 47 Lu 175—>175 HEHe | 0.0001 | 0.0002 | 0.9996
48 Hf 178 —>178 HEHe | 0.0017 | 0.0106 | 0.9994
Octp RF 200v 200v 200v 200v 49 | Ta 181181 HEHe | 0.0002 | 0.0018 | 0.9996
Energy Discrimination 5V sV A ov 50 w 182—>182 HEHe | 0.0014 | 0.0061 | 0.9996
51 Re 185—> 185 HEHe | 0.0004 | 0.0001 | 0.9998
52 0s 189 Ho 0.1819 | 0.3222 | 0.9994
53 Ir 193 —>193 HEHe | 0.0020 | 0.0019 | 0.9996
- El‘ 54 Pt 195—>195 HEHe | 0.0078 | 0.0401 | 0.9997
= 55 Au 197 =197 0, 0.0476 | 0.4666 | 0.9997
Hakr] Xk 56 Hg 202 —> 202 0, 0.4465 | 0.7155 | 0.9997
HewrTe 57 Tl 205 —> 205 HEHe | 0.0011 | 0.0008 | 0.9995
58 Pb 208 —> 208 Ho 0.0030 | 0.0216 | 0.9995
. 59 w 182 —>214 0. 0.0010 | 0.0049 | 0.9995
H 4 AZ3H oY 9 AN £E s M2 AE oA ME(THS : ppb) 60 Th 232 —> 232 HEHe 00015 | 0.0008 | 09995
aa | Mass Transition | ¢ oo " o . 61 U 238 — 238 Ho 0.0005 | 0.0003 | 0.9992
@1—>Q2)
1 Be 9—>9 No Gas | 0.0015 | 0.0004 | 0.9996 Agilent 8900 ICP-QQQE 2[2| H4%t Z0| M2 YAE SHHO| 24 o
2 B 11—=>11 No Gas | 0.020 0.163 0.9998 QOH, 52 Y401 0s2 A0= A2 MS ZEE 083104 ICP-QQQ
3 Mg 24—>24 H, 0.0088 | 0.087 | 0.9997 1712 A2 MSetZ2 =AM 40| 7HsELlct
e R I B Ao E20| SEHo 20| BERTE HESH0| 0] 2552t | Attelol
e | 0000 | AST_| 29008 31591001, Rg(O HOIi= 213 20| L5 0.9990440] HAINE HOl=
6 K 39 —>39 Ho 0.0169 | 1.044 | 0.9991 HS of & Qa LTt :
7 Ca 40— 40 H 0.1259 1.444 | 0.9984 A== TS
8 P 31—>47 0, 04243 | 4143 | 0.9997 CEBE T 40| M LIEFLF= 21D} 20| LS 2 B17|9f BECE 20l & & 9lom
9 S 32—>48 (o)) 0.2335 6.419 0.9997 S HIO|E{= Agilent Korea A &AM TIME QoM AHA 242 Aot
10 cr 52—>52 Ho 0.0107 | 0.0946 | 0.9997 AIS AT SIS |C}
1 Fe 56— 56 Ho 0.0134 | 1.312 | 0.9993 {2545 ol S0l (AN T 82 100- o= Rl
12 Cu 63— 63 Ho 0.0493 | 0.2499 | 0.9995 dgiiel Yel= IR0l (A) &(S)2 100-1000ppb +ES = Hg=2la,
QI(P)2 10-100ppb +=FL 2 M EJOH, LIHX| FA S0 CHi A= 1-10ppb
4 +ZEO = HYMS MR SLIC
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Curve Fit] Linear Origin: Blank offset Weight: <None>

ISTD:

9-> 0 Be [NoGas MSMS |
%105 |y =10038.7636 % x +8.3433

R= 0.9996

| DL =0.001567 ppb

BEC = 0.0004184 ppb

ra

CPs

0-f T T |
5.0

10.0
Conc(ppb)

11-> 11 B [No Gas M5MS ]
%105 | y = 34088,5270 % = 5705.2833

R= 00998

47 DL = 0.02065 ppb

BEC=0.1631 ppb

CPs

0 T T

24-> 24 Mg [H2_MSMS |
%10 5]y = 68777710 *x + 603.9533

R= 09997

DL = 0.008823 ppb

BEC = 0.08781 ppb

0 T T

5.0 10.0
Conc(ppb)

5.0 100
Conc(ppb)

27-> 27 Al [H2_M5SMS |
%106 | y = 4680.6035 *x + 112427.2033
R= 0.9996
1DL=0.2198 ppb
BEC = 24.02 ppb

w

CPs

1000
Conc{ppb)

28-> 28 Si [H2_MSMS |
€104 |y =10845212 % + 1341.1833
R= 09869
DL = 0.2054 ppb
- 14 BEC=1.237 ppb
& -
= -

0 T T |

31->47 P [02]
€106 |y =8217.1820 *x + 34044.2500

1| R= 09997
DL = 0.4243 ppb
BEC = 4,143 ppb

Ps

0.54

32->48 5 [02]
x10 7]y =13722.5852 %% + 88097.8633

R= 09997

DL =0.2225 ppb

BEC = 6.419 ppb

39-> 39 K [H2 MSMS |
«10°5 |y = 10247.6163 *x + 10803.6100

R= 09991

DL = 0.01605 ppb

1. BEC = 1.044 ppb

%
a
=]

0 T T

DL = 0.1259 ppb
| BEC= 1.444 ppb

0 T T |
5.0

10.0
Conc(ppb)

DL = 0.01609 ppb
BEC = 0.06776 ppb

Ps

0 T T

44DL=0.001833 ppb
BEC = 0.008808 ppb

Ps

0 T T

5.0 10.0
Conc(ppb)

5.0 10.0
Conc(ppb)

5.0 10.0 500 100.0 5.0 10.0
Conc(ppb) Conc(pph) Conc(pph) Conc(pph)
40-> 40 Ca [H2_ MSMS ] 48-> 64 Ti [02] 51->67 V [02] 52->52 Cr [H2_MSMS |
x105 | y=20624.9719 *x + 29791.8533 «10 5 | y = 256200.1514 *x + 17360.5500 105 | y=361212.4371 *x + 3181.9267 x10 54 y = 14298.6411 *x + 1353.1000
R= 09984 R = 09995 R = 09994 R = 09997

DL = 0.01073 ppb
BEC = 0.09463 ppb

0 T T

5.0 10.0
Conc(ppb)

Calibration Curve - 2/ ( 6 pages )
v { > [I£ g 2 e

Curve Fit] Linear

Origin: Blank offset Weight: <None>

ISTD:

56-> 56 Fe [H2_MSMS |

%106 | y = 70603.1865 * x + 02662.9567
1{R= 09903

DL = 0.0134 ppb

BEC=1.312 ppb

cPs

0.54

0 T T |
5.0 10.0
Conc(pphb)

63 -> 63 Cu [H2_MSMS ]
X104 |y =3164.1627 *x +790.8167

66-> 66 Zn [H2_MSMS |
£1057]y= 135281354 *x + 2164.0267

44R= 00005 R= 09990
DL = 0.04932 ppb DL = 0.01681 ppb
- BEC = 0.2499 ppb - BEC = 0.16 ppb
& & N
24
0-F T - o-F T -

5.0 10.0
Conc(ppb)

5.0 10.0
Conc(ppb)

71-> 71 Ga [H2_MSMS ]
x10 6]y = 70656.0178 *x + 3987400

R= 09997

DL = 0.002341 ppb

BEC = 0.005643 ppb

cPs

0.54

0-f T r

5.0 10.0
Conc(ppb)

72> 12 Ge [H2_MSMS |
%105 | y = 15814.8267 *x + 1041.0900

4 R= 00998

DL = 0.02304 ppb

BEC = 0.06583 ppb

o T r |
5.0

10.0
Conc(ppb)

75-> 91 As [02]
%105 | y=45577.2737 *x + 350.0023

TrR= 09996

DL =0.003212 ppb

4 BEC = 0.007679 ppb

0-f T r

78> 18 Se [H2_MSMS]
X104 y = 20826824 *x + 35.0367

R= 0.9996

DL = 0.0151 ppb

BEC=0.01174 ppb

0-f T r

5.0 10.0
Conc(ppb)

5.0 10.0
Concippb)

85-> 85 Rb [HEHe |
%105 | y = 23058.7926 * x + 1011.0567

TR = 0.0996
DL = 0.00881 ppb
2] BEC = 0.04285 ppb

0-f T r

5.0 10.0
Conc(ppb)

88-> 88 Sr [HEHe |
1105 y=42538.6467 *x + 211.8800

R= 0.9997

DL = 0.004285 ppb

4+ BEC = 0.004981 ppb

cPs

0-f T r |
5.0

90 -> 90 Zr [HEHe |
%105 | y = 40569.5190 *x + 067.6767

64 R= 09998
DL = 0.005977 ppb
BEC = 0.01952 ppb

cPs

93> 03 Nb [HEHe |
%106y =111953.5556 * x_+ 598.0467

R= 09997

DL = 0.001016 ppb

1. BEC = 0.00535 ppb

0-f T r
5.0

10.0
Conc(ppb)

10.0
Conc(pphb)

0-f T r
5.0

10.0
Conc(ppb)

95 -> 95 Mo [HEHe |
%10 5]y = 20467.4531 % x + 83.4200

R= 09997

DL = 0.00112 ppb

7 BEC = 0.004076 ppb

cPs

0-f T r
5.0

10.0
Conc(ppb)




Calibration Curve - 3/ ( 6 pages )
v { > [I£ g 2 e

Origin:| Blank offset Weight: <None>

Curve Fit: Linear

ISTD:

101> 101 Ru [HEHe |

%105 | y = 24688.8051 " x + 105.1067
34R= 00995

DL = 0.002787 ppb

BEC = 0.004257 ppb

CPs

0 T T |
5.0 10.0
Conc(pphb)

103 -> 103 Rh [HEHe |
%108 | y = 1346577959 " x + 163.5000

R = 0.9996

1.51 DL = 0.0004507 ppb

BEC = 0.001214 ppb

105 -> 105 Pd [H2_MSMS ]
%104 | y=50513320 "« + 2878.2167

R= 0.9996

6 DL = 0.04088 ppb

BEC = 0.5698 ppb

0 T T
5.0 10.0
Conc(pphb)

0 T T
5.0 10.0
Conc(pphb)

107 -> 107 Ag [H2_MSMS ]
%105 | y=13376.5960 " +457.1333

R= 09997

1,51 DL = 0.004672 ppb

BEC = 0.03417 ppb

0 T T
5.0 10.0
Conc(ppb)

111-> 111 Cd [H2_MSM5 ]
%105 | y=26370.7875 "% +81.7533

R= 09996

DL =0.002371 ppb

BEC = 0.0031 ppb

0 T T |
5.0

10.0
Concipphb)

118 > 118 Sn [02]
%106 | y=171718.8265 "% + 5147.9000

R= 1.0000

| oL = 0.006884 ppb

BEC = 0.02998 ppb

CPs

0 T T

121-> 121 Sb [02]
%10 5 y = 144669.3111 *x + 976.0267

R = 09997

DL = 0.001869 ppb

BEC = 0.006747 ppb

0 T T

5.0 10.0
Concipphb)

5.0 10.0
Concipphb)

133> 133 Cs [02]
%108 | y = 586921.7635 " x +9703.5067

R= 00003

DL = 0.001181 ppb

5 BEC = 0.01653 ppb

0 T T

5.0 10.0
Conc(ppb)

137 -> 137 Ba [HEHe ]
%105 | y=117047595 *x +211.8800

R = 09909

DL = 0.001859 ppb

1] BEC=0.0181 ppb

0 T T |
5.0

10.0
Concippb)

130> 139 La [HEHe |
%106 | y = 1248246476 " x + 45.0500
15]R= 09999
DL = 0.0002406 ppb
BEC = 0.0003609 ppb

CPs

140 > 140 Ce [HEHe ]
%108 | y= 1336658846~ x - 98.4323

R= 00998

1.5 bL = 0.00023328 ppb

BEC = 0.0007364 ppb

CPs
L

0 T T
5.0 10.0
Conc(pphb)

0 T T
5.0 10.0
Conc(ppb)

141 -> 141 Pr [HEHe |
%106 | y=151814.0623 *x + 21.6900

TrR= 09998

DL = 0.0002059 ppb

BEC = 0.0001429 ppb

0 T T
5.0 10.0
Conc(ppb)

Calibration Curve - 4/ ( & pages )
Av > IEE & 2o

Origin: Blank offset Weight: <None>

Curve Fit: Linear

ISTD:

146 -> 146 Nd [HEHe |
«105 y = 28783.2320 " x = 5.0067

R= 0.0005

DL = 00005217 ppb

BEC = 0.0001739 ppb

0-f T T 1
5.0

10.0
Conc(pphb)

147 -> 147 Sm [HEHe |
«105 |y =25093.9363 " x - 8.3433
3] R=0.0006
DL = 00009143 ppb
BEC = 0.0002325 ppb

CPS

0 T T

153 -> 153 Eu [HEHe ]
«106 | y = 89501.8074 " x = 16.6867

R= 00005

DL = 0.0002563 ppb

BEC = 0.0001864 ppb

14

0 T T

5.0 10.0
Concipphb)

5.0 10.0
Conc(pphb)

157 -> 157 Gd [HEHe |
£105 |y = 245358704 " x = 8.3433
3{R= 00008
DL = 0.0009351 ppb
BEC = 0.00034 ppb

CPS

0 T T

5.0 10.0
Conc(ppb)

159 -> 159 Tb [HEHe ]
«106 |y = 162393.3082 " x + 26,6967

24 R= 09999
DL = 00001925 ppb
BEC = 0.0001644 ppb

0-f T T 1
5.0 10.0
Concipphb)

163 -> 163 Dy [HEHe |
%105 |y =40317.0725"x +10.0133

R= 0.9997

DL = 0.0003724 ppb

BEC = 0.0002484 ppb

=

PS5

165 -> 165 Ho [HEHe ]
%106 | y=156770.7626 * x - 38.3733

R= 0.9999

DL = 5.524E-05 ppb

BEC = 0.0002445 ppb

0 T T
5.0 10.0
Concipphb)

0 T T
5.0 10.0
Concipphb)

166 -> 166 Er [HEHe ]
£10°5 | y = 483425547 " x =+ 11,6800

< R= 00998
DL = 0.0007818 ppb
BEC = 0.0002416 ppb

PS5

0 T T
5.0 10.0
Conc(ppb)

169 -> 169 Tm [HEHe |
«106) y = 147139.1376 " x + 200233

R= 0.9995

DL = 000027 ppb

BEC = 0.0001361 ppb

0-f T T 1
5.0

10.0
Conc(pphb)

172 -> 172 Yb [HEHe ]
%105 | y=30647.3793 *x + 8.3467

Tr= 09005

DL = 0.0005657 ppb

BEC = 0.0002723 ppb

04 T T

175 -> 175 Lu [HEHe
%1067 y = 137064.4377 " x = 31.7000

R= 0.9996

DL = 0.0001673 ppb

BEC = 0.0002313 ppb

0 T T

5.0 10.0
Conc(pphb)

5.0 10.0
Conc(pphb)

178 -> 178 Hf [HEHe ]
«1057 y = 27555.6057 *x - 2936333

R= 0.0994

DL = 0001752 ppb

BEC = 0.01066 ppb

04 T T

5.0 10.0
Conc(ppb)




Calibration Curve - 5/ ( 6 pages )
v { > [I£ g 2 e

Origin:| Blank offset Weight: <None>

Curve Fit: Linear

ISTD:

181-> 181 Ta [HEHe ]

%108 | y = 824555323 " x + 148.4867
14R= 00995

DL = 0.0002103 ppb

BEC = 0.001801 ppb

182 > 182 W [HEHe |
%105 | y=20231.2458 "% +125.1300

R = 09996

DL = 0.001484 ppb

BEC = 0.006185 ppb

182 > 214 W [02]
%106 | y = 133597.9317 " x + 660.6833

R = 09995

DL = 0.001084 ppb

BEC = 0.004945 ppb

1.54

185 -> 185 Re [HEHe ]
%105 | y=35125.5068 "% + 50067

R= 09998

7 DL = 0.0004273 ppb

BEC = 0.0001425 ppb

0-f T r |
5.0

10.0
Concipphb)

0 y T

0 y T

5.0

10.0
Concipphb)

5.0 10.0
Concipphb)

v v v v
a a a 1 a
S S =] S
0.54 2
14
0.59
0 T T | 0 T T o T T 0 T T |
5.0 10.0 5.0 10.0 5.0 10.0 5.0 10.0
Conc(pphb) Conc(pphb) Conc(pphb) Conc(ppb)
189 Os [H2] 193 -> 193 Ir [HEHe ] 195 -> 195 Pt [HEHe ] 197 -> 197 Au [02]
X103 | y=454.6784 "% + 1468167 %105 y=29840.6113 *x +56.7267 %105 | y=9606.0572 *x +385.3933 %108 | y=147401.5829 *x = 68776.4433
TR=109994 R = 09996 R= 09997 TR= 09997
DL =0.1819 ppb DL = 0.002034 ppb 14 DL =0.007815 ppb DL = 0.04766 ppb
" 2d BEC = 0.3229 ppb - BEC = 0.001901 ppb . BEC = 0.04012 ppb - BEC = 0.4666 ppb
a a a o
=] S 24 S o 14

0-f T r |
5.0

10.0
Conc(ppb)

202 > 202 Hg [02]
1037y =191.1944 *x + 136.8067

R= 09907

DL = 0.4465 ppb

7 BEC=0.7155 ppb

CPs

0-F T T |
5.0

10.0
Concippb)

205 -> 205 TI [HEHe |
1057y =69121.5246 "« +61.7300

R = 0.9995

DL = 0.001196 ppb

BEC = 0.0008931 ppb

0.5

CPs

208 -> 208 Pb [H2_M5MS ]

%106 | y = 163578.4785 *x + 3545.7533
24R= 00995

DL = 0.003057 ppb

BEC = 0.02168 ppb

0-f T r
5.0

10.0
Conc(pphb)

0-f T r
5.0

10.0
Conc(ppb)

232 > 232 Th [HEHe |
%105 | y=61176.0945 "% +510.5233
R = 0.9995
DL = 0.001533 ppb
BEC = 0.008345 ppb

CPs

0 T T |
5.0 10.0
Conc(ppb)

Calibration Curve - 6/ ( & pages )
Awv L [ g 2 e

Origin: Blank offset Weight: <None>

Curve Fit: Linear

ISTD:

238 -> 238 U [HZ_M5MS |
y=203750.2843 " x + 80.0833
R = 00002

DL = 0.0005564 ppb
BEC = 0.000393 ppb

CPS

0 T T |
5.0

10.0
Conc(pphb)
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A Mass Transition (Q1 = Q2) = ZE AZE1 A= 2 STD AMO|ZEl AE 1 STD AMO|ZE ANE 2 | 3[$+8% | BEEWA % RSD

1 Be 9—>9 No Gas 0.001 0.002 10.117 10.882 108% 0.472 4%
2 B 11 —=>11 No Gas 0.34 0.29 10.338 10.624 106% 0.243 2%
3 Mg 24 —>24 Ha 5.105 5.107 15.4 15.515 109% 0.394 2%
4 Al 27 —>27 H. 154.432 | 155.695 1218.328 1188.693 108% 19.116 2%
5 Si 28 > 28 H 4.169 4.238 14.435 14.622 111% 0.266 2%
6 K 39—>39 Ho 1.003 0.994 11.197 11.493 109% 0.213 2%
7 Ca 40 —>40 H2 1.45 1.465 11.873 12.501 99% 0.563 5%
8 P 31—>47 0, 0.281 0.682 103.581 107.5 107% 1.644 2%
9 S 32—>48 02 506.618 | 529.169 1555.102 1634.107 113% 35.866 2%
10 Cr 52 —>52 H. 0.248 0.243 9.591 9.615 98% 0.253 3%
11 Fe 56 —> 56 H 0.886 0.907 10.565 10.632 100% 0.312 3%
12 Cu 63 —> 63 Ho 0.033 0.076 9.211 9.119 95% 0.287 3%
13 Ti 48 —> 64 02 0 0 10.301 10.501 106% 0.152 1%
14 Zn 66 > 66 Ha 0.169 0.18 9.404 9.39 95% 0.142 1%
15 \ 51 —>67 02 0.01 0.01 9.641 10.169 102% 0.193 2%
16 Ga 71—=>71 Ha 0.027 0.027 9.999 9.907 103% 0.227 2%
17 Ge 72—>72 H. 0 0 10.156 10.106 105% 0.189 2%
18 Se 78 —>78 Ho 0.004 0.003 10.036 9.962 104% 0.211 2%
19 Rb 85—>85 HEHe 0.009 0.007 9.897 10.139 102% 0.128 1%
20 Sr 88 > 88 HEHe 0.027 0.027 10.103 10.282 104% 0.103 1%
21 Zr 90 —>90 HEHe 0.002 0.002 10.045 10.286 104% 0.123 1%
22 As 75—>91 02 0.39 0.399 10.486 10.741 105% 0.129 1%
23 Nb 93 —>93 HEHe 0.002 0.001 9.981 10.177 103% 0.115 1%
24 Mo 95—>95 HEHe 0.013 0.014 10.023 10.243 104% 0.124 1%
25 Ru 101 —>101 HEHe 0.002 0.001 9.721 9.765 100% 0.11 1%
26 Rh 103 —>103 HEHe 0 0 9.527 9.651 98% 0.105 1%
27 Pd 105—>105 H2 0 0 9.652 9.635 102% 0.304 3%
28 Ag 107 =107 H. 0 0.001 9.555 9.649 100% 0.22 2%
29 Cd 111 —=>111 Ha 0.167 0.166 9.898 9.884 102% 0.249 2%
30 Sn 118 > 118 0. 0 0 9.794 10.132 102% 0.163 2%
31 Sb 121 —>121 02 0.096 0.097 10.32 10.615 107% 0.145 1%
32 Cs 133 —>133 02 0 0 10.202 10.723 108% 0.182 2%
33 Ba 137 —>137 HEHe 0.019 0.022 9.951 10.288 104% 0.237 2%
34 La 139 —>139 HEHe 0.001 0.001 9.995 10.275 105% 0.189 2%
35 Ce 140 —> 140 HEHe 0.004 0.003 10.133 10.316 105% 0.171 2%
36 Pr 141 —> 141 HEHe 0.001 0.001 10.124 10.445 106% 0.208 2%
37 Nd 146 > 146 HEHe 0.005 0.005 10.184 10.394 107% 0.175 2%
38 Sm 147 > 147 HEHe 0.003 0.003 10.249 10.428 106% 0.14 1%
39 Eu 153 —> 153 HEHe 0.001 0.001 10.165 10.429 107% 0.185 2%
40 Gd 157 > 157 HEHe 0.004 0.004 10.233 10.511 108% 0.196 2%
41 Tb 159 —=> 159 HEHe 0.001 0.001 10.01 10.191 104% 0.149 1%
42 Dy 163 > 163 HEHe 0.006 0.005 10.161 10.242 105% 0.141 1%
43 Ho 165 —> 165 HEHe 0.001 0.001 10.043 10.214 104% 0.154 1%
44 Er 166 > 166 HEHe 0.003 0.003 10.144 10.376 105% 0.141 1%
45 m 169 —> 169 HEHe 0.001 0 10.213 10.389 106% 0.118 1%
46 Yb 172 —>172 HEHe 0.002 0.002 10.142 10.38 107% 0.194 2%
47 Lu 175—>175 HEHe 0 0 10.297 10.494 108% 0.191 2%
48 Hf 178 > 178 HEHe 0.002 0 10.386 10.633 109% 0.175 2%
49 Ta 181 —>181 HEHe 0.001 0.001 10.254 10.586 107% 0.169 2%
50 W 182 > 182 HEHe 0.224 0.223 10.491 10.783 107% 0.143 1%
51 Re 185 —>185 HEHe 0 0 10.401 10.683 108% 0.15 1%
52 Os 189 H 0 0.018 10.219 9.988 102% 0.233 2%
53 Ir 193 —>193 HEHe 0.003 0.003 10.249 10.422 106% 0.118 1%
54 Pt 195—>195 HEHe 0.008 0.005 10.153 10.254 106% 0.184 2%
55 Au 197 > 197 0. 0 0 9.716 10.056 103% 0.214 2%
56 Hg 202 —> 202 02 0.192 0.035 10.983 10.666 111% 0.382 3%
57 Tl 205 —> 205 HEHe 0 0 9.777 10.131 104% 0.2 2%
58 Pb 208 —> 208 H2 0.016 0.014 9.713 9.757 102% 0.262 3%
59 w 182 —>214 02 0.224 0.223 10.491 10.783 107% 0.143 1%
60 Th 232 —>232 HEHe 0 0 10.26 10.608 108% 0.209 2%
61 u 238 —> 238 H. 0.004 0.004 10.043 9.994 105% 0.249 2%
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Handbook of ICP-QQQ Applications using the Agilent
8800 and 8900, Agilent publication, 5991-2802EN

Wim Proper, Ed McCurdy and Junichi Takahashi,
Performance of the Agilent 7900 ICP-MS with UHMI for
high salt matrix analysis, Agilent publication,
5991-4257EN.

Aimei Zou, Shuping Li, Chun Hiong Ang, and Ed McCurdy,
Accurate ICP-MS Analysis of Elemental Impurities

in Electrolyte Used for Lithium-lon Batteries, Agilent
publication, 5994-5363EN.
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